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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours Part-I Examination, 2019

ECONOMICS
PAPER-ECOA-I
Time Allotted: 4 Hours Full Marks: 100
The figuresin the margin indicate full marks. e ST 547 F 5 T [ T 1
Candidates should answer in their own words NI [cers SR AR ST&F TN M
and adhere to the word limit as practicable. ey P!

All symbols are of usual significance.

Use separate answer books for each Group.
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GROUP-A
faet-=
1. Answer any three questions from the following: 4x3 =12

faERe @-E foaip arT Teg wies

(&) Explain why, in the short run, a competitive firm may continue to produce even if
itincursloss.

TP I, 950 AfSIMSETe 21 Teviine 0o A e G oifds wwhog
S 202 — I AT AN

(b) Explain why two indifference curve cannot intersect each other.
@-IC 715 TR0 (@R A IR0 (=7 TR0 A0 9 @ — J7 SN

(c) A competitive firm produces a commodity, where the total cost of production is
given by C =10+ 3Q +5Q?%. If the market price of the commodity is Rs. 28, what
would be the level of production and level of profit of the firm?
@35 AfSERINORFER FIGR OF TR @6 Teoime 77 C =10+ 3Q +5Q? | T Ty
IR 6T Rs. 28 &l 4% 23 O3 T3 (G TeAAwe 8 (G el ool e

(d) Define‘Consumers Surplus’ and show it graphically.
‘(OIGR T7e’-«3 eI w6 ¥R TR EF eS|

(e) Construct and explain the shape of a set of indifference curve with automobile
rides and air pollution as two commodities for a society that likes automobile
rides but dislike air pollution.
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2. Answer any one question from the following: 8x1=8
AT - 915 2ltaF Tee mies
(@) Derivethe short run supply curve of a perfectly competitive firm.

I eAfSRINTORER TR Felee @il @i 5 @t

(b) State and explain the characteristics of the Cobb-Douglas production function.
Q> FI-TANAH TeA N SCATHTH (A3 6T G RN

3. Answer any two guestions from the following: 15x2 = 30
fsfeTiae c-pie 76 elves Ted mhes

(@ (i) With one variable factor of production identify the three stages of 8+4+3
production in the short run, and hence explain why efficient production
takes place at the second stage.

(i) Why do isoquant have positively sloped regions while indifference curves
do not? Explain the role played by ‘ridge lines' in eliminating this positively
sloped regions.

(i) @ TN TAWICTT ACATF FHFIE S foafd #1 et e, @3
A0 AT FC (o1 W G o A 2 |
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(b) Define constant cost industry. Derive the long-run supply curve of a constant 4+11
cost industry.
7 age e 3eTce [ @I 2 @t fitem Rk q@iaie @i e s

(c) Let the utility function and the budget constraint of a consumer is given as 9+6

U =xy and 100- P_.x+ P,.y = 0 respectively.
(i) Find the demand function for x and y
(if) Show that the price elasticity of demand for x aswell as of y is unity.
WA IR (SR TSl SomE @R ACEE @A OIA@FE U =xy @R
100-P,.x+PR,.y=01
() xR y-93 bifzwt Seers e e
(i) e (@ x GR y-9F HifewE s FEfeEvmel SIRe) SRER 4T F 2|
(d) Write short notes on: 74x2=15
(i) CESProduction function
(i) Walrasian condition for stability of market equilibrium.
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GROUP-B
Tet-2

4, Answer any three questions from the following: 4x3 =12

AEleTe @-GIE! foaft et Ted nies

(d) How are inventoriestreated in National Income accounting?
SIS S W+ e g el Feiea Reawai w1 =2 9

(b) What is paradox of thrift?
[ESHESESIGCNC DR C R G

(c) What is meant by ‘inflationary gap’ in Simple Keynesian model?
FRE (PEAA AT YWIFIOF I IeT00 6 @I 9

(d) What isOkun’s Law?
SR I 0O T GG 2

(e) What are the factors that determine slope of IS curve?
|S 4R BieT e Sommefe [ 9

(f) How joblessness is measured?

FRITo! fFeI sfxms Fatzx o

5. Answer any one question from the following: 8x1=8
feafere @-FI 9= ivaa Tes nies
() Discuss ' Crowding out phenomenon on Fiscal Expansion’.
“REFTIIET TR T ST T eeeriae #IffZfe” S S
(b) Derive aggregate demand curve from IS-LM model.

|S-LM SO AR ANE bifgwl @2 wiEa St

6. Answer any two guestions from the following: 15x2 = 30
fasfeie @-ce 76 elvss Teg wies
(a) Discuss the Say’s law “Supply creates its own demand”. Explain the concept of 8+7

Classical Dichotomy.
‘N O Bifeml 9 F@° - @2 Say-«93 @t WicAnA I FiE ke veb
AR RN
(b) (i) How apositively sloped LM curve can be obtained from Classical Quantity 7+8
Theory of Money?

(i) In ISLM Model what happens to equilibrium rate of interest and real
income in case of withdrawal of subsidy by the government — Discuss.

(i) wIPRTE SdE A orea MR Tl @3 e Jfege LM @9l e

FAAS] ?
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(c) Write a note on relative effectiveness of fiscal and monetary policies in different 15
economic situations.

fon fon el “IfRfafore R TS © Wi Mox gemere SR fict Sl
AT
(d) Write short notes on any two of the following: 7% x2=15
fomffe Q- 1 R B s
(i) Neutrality of money
T 2ol ol
(i) Balanced Budget Multiplier
TG ST S
(iii) Liquidity trap.
SRR T
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